	I have x = –7

Who has 3 + x = 12


	I have x = 9

Who has x – 4 = 0

	I have x = 4

Who has x + 1/2 = 3/2
	I have x = 1

Who as 2x = 22

	I have x = 11

Who has x/3 = 6
	I have x = 18

Who has –5x = -25

	I have x = 5

Who has (2/3)x = 4
	I have x = 6

Who has 7 = 3.5x

	I have x = 2

Who has 2x – 1 = 5
	I have x = 3

Who has 4x – 2x = 9

	I have x = 9/2

Who has 3 – 4x = 19
	I have x = -4

Who has 3x = 3/5

	I have x = 1/5

Who has ten times a number equals 110
	I have 11

Who has 630 = 14x

	I have x = 45

Who has 3 = a - 42
	I have a = 45

Who has 95 - h = 77

	I have h = 18

Who has k + 11 - 12 = 16
	I have k = 17

Who has 26 - j = 5

	I have j = 21

Who has 5 - 3x = -16
	I have x = 7

Who has -x = 105

	I have x = -105

Who has x + 6.3 = 5.7
	I have x = -0.6

Who has 2n + 7 = 13

	I have n = 3

Who has (1/6)x = -4
	I have x = -24

Who has 29 - m = 8

	I have m = 21

Who has -4x - 7 = 25
	I have x = -8

Who has -11b - 20 = -97

	I have b = 7

Who has 27x = 9
	I have x = 1/3

Who has -14p = 0

	I have p = 0

Who has 20x = 15
	I have x = 3/4

Who has –3 + x = -10


